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Question 1. Compute the remainder of the following division: 2015 = 7.

b 4 b 2 1052 19 FaF

@ not in the list + ¢
O @0

o

Question 2. How many prime numbers are there between 1 and 23, including both?

@ 5 B 7 SERYININT.

not in the list.
13, 14, L

by
BN 1 e BT 1 O !

Question 3. Determine the greatest common divisor of 5103 and 3003.

[a] 7 ] 9 - U

[e] | not in the list.

[ 3 [d] 27 e T 2|

Question 4. Factor 2220 into primes.

] 2%.32.52.7 @’ 929 5. 87

[e] not in the list

] 2:5%2-127 d 2:32:8:% - £
[(‘] [ } - = 1‘} ? ‘f’ %
v iRl
// \1‘ > ; + s
Question 5. Determine the least common multiple x of 60 and 72. - 3 60
S

[a] 120 < z < 200 350Sx<400

[e] 300 <z <350 [d] 900 <z < 1000

[e] not in the list.

Question 6. How many of the following equalities are correct?

X %
2.31 x 10% = 231000, 0.06 x 10° = 0.6,

2005 x 107% = 2.005, 2345 =+ 1073 = 2.345.
v X

(e] not in the list.
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Question 7. Sort the following numbers by decreasing magnitude

z=601x10"% ¢ =0.0512, z = 0.0059, w = 0.06.

©.0éo | Smalle §1

@] w>z>2>y (b w>z>y>2

@x>w>y>z [ w>z>z>y

[e]  not in the list.

Question 8. Sort the following fractions by increasing magnitude

i3 8 13 8 « 3 < Z
8 13 a1 3 T 'Y
5 13 8 AYS
[a] . B z<—=<— g 7 A \},H
21 "8 13 82113 - k== ~4
@ not in the list. 4 ¥
8 5 13 13 8 5
[C] 1—3- < g 5‘“ {d] '2—1 < ﬁ < g
bate ~F

Question 9. Estimate £ =32x 10724+ 16 x 103 — 3 x 109,

la] 48 x 1072 <z < 4.9 x 1072 @.7 % W02 <o d8x1072
[e] not in the list.

[€]31x1072<z<32x10"% [d]3.9x10"2<z<4x102

7T

Question 10. Determine the integer nearest to 19 B
[a] ) 16 [b] 17
le] not in the list.
[e] 15 [d] 14

Question 11. How many of the following fractions are reduced?

63 97 91 39
56° 93 637 26"
x A X
N
[a] 0 @ 1

[e]  not in the list.
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Question 12. Compute the remainder 6f the following division

(2 =322 +22—-4) + (22 +2).

@ ] 8 — 42
[e] not in the list.

[c] 82+ 8 [d] 2—2 “L ) 1
2 M+ & (2 aw)
= (#1179 :(arﬁi)(?'
Question 13. When 2% + 81u? — 9zu? — 92?2 is factored completely; of the
factors is (/,_f_ar—f“ (: \2“\’1“) ( },q)
[a]}-9 + 2 b 2 —%u (%/}u)
[e] not in the list.
[c] 9+ =z [d] z — 9u?
Question 14. Compute the quotient of the following division
, V_,t
(e*—a®+a+1) = (~a—2). Y, G 0y )
, -ba T
\__\_/_ o (q—}- L) ( \ * 2’;
[a]—a® +a® +2a +5 @a3+3a2—6a+11
[e] not in the list.
l]—a® —a% —22—5 [d]—a® + 3a® + 6a — 13 \
2 3 1 - & o 8
Question 15. Simplify — 5 & T 1 o e 6~
a?—9 a’+a-— a+ (o +31(e~3) {qtl)(aflf')
] a? —a—10 o 26 —a —a?
(a+4)(a+3)(a—3) (a+4)(a+3)(a—3)
[e] not in the list.
. 8 —a—a? —a® + 5a + 26
| n)
) T DErE=3 4 e DEr3E—3) é i 4 %),,,)(w’z
> 5
-t
: R . Nl k0 ) (L2~ )
Question 16. Simplify w”/’ \7 ) (
la] 8z% + 12z + 1 [gi 822 +8z—1
(1+22)(1 - 2z) (2z — 1)(2z + 1)
[e] not in the list.
8z% +1 8z% +8z -1

[d]

[C] (14+2x)(1 - 2x) (1- 2z)(1 + 2z)
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2 -3 - — 05 gl
Question 17. Simplify 1—/3 I. . evén '9 4
— 2 2y—3
(-DDL *r Ca-h vy
1 b y’ (’
[a'] chyyz [ } E
[e] not in the list.
x3y7 1
[e] . 4] 311z L & )
x -
> (a
1 y
Question 18. Given f(z)= ;(—2:2 +182% — 9z), compute f (—%)
4 22
. 2 I
- -
le] not in the list.
| 8
= d 2
)3 @
Question 19. Solve the simultaneous equations 3 = —3z+y and —z = 4dy+z+1.
=0
@ o=t ,_3 @ 133 Y +20¢ F
CPT0Y T 10 VIR ARV
[e] not in the list.
13 9 9 11
(] x—ﬁay—ﬁ (d] l__ﬁ’y_ﬁ
. : l—x 1
Question 20. Solve the equation = = — 5 + 5% (,\.\ & \"~,4 L,) % 70 )
—6
[a] 19 (] -6
le]  not in the list.
6 6
- 41 =
S @ 11
Question 21. Solve the inequality — 3 6—2t) . -ZBt. = hes {=- %
5 5
e t< —Z
[a] t< 1 b t< 7
[e] ) not in the list.
5 5
t>—-= d t>-—-
d t>—2 [ 1>
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Question 22. Solve the simultaneous equations

5r+4y=2x+y—-1 and —y=2(2-x).

11 - 11 9
O

[e] not in the list.

5
N T V15 3 <
Question 23. Simplify o + X \’/f b 3 \'ﬁ
V18 \/% 7
e = Bl 5 \ L
not in the list. ov (”L- §AYS s
23 15 st 3
02w M9
- ')
Question 24. Simplify Z b
ARV AT ( 0\ . (b
() DD (]
la] —%b B —2b+8a
[e] not in the list.
5
@—gb [d —2b—8a
Question 25. Solve the equation 3+ 7z = (2 — ) = Y4 U T~ A
~
N\ -2 V1D 4+ VA0 Sivapnlayg ©
@T [b] 12 Al k"”ﬂﬁ’-"
[e] mnot in the list
6 2++10
g £ g 2V

End of Paper.
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